

GOVERNMENT POLYTECHNIC, GAJAPATI, ODISHA

At:Betaguda, Po:Jhami, Via:Paralakhemundi, Dist:Gajapati -761201
E-mail:gpgajapati2013@gmail.com / Website:gpgajapati.in

No. 069 // GPG// Dt. 16th Jan 2026
QUOTATION CALL NOTICE

Sealed Quotations are invited from the Registered Book Seller/ Publishers for supply of "Diploma Engineering Books for Institution Library". For detail list of Books please visit www.gajapati.nic.in.

Interested firms are requested to submit the sealed quotation papers fulfilling all the specification addressed to the Principal, Govt. Polytechnic, Gajapati by Post / by hand and there shall reach the undersigned on or before 28.01.2026 at 05.00pm along with (1).Valid copy of GST clearance certificate (2). Income Tax Clearance Certificate, (3). Aadhar Card Xerox copy,(4). PAN Card Xerox copy, by super scribing on the top of the sealed envelope "Library Books" being a statutory Document shall be embodied with the Quotation and will be opened on 02.02.2026at 11.00 AM. For the library books, the rate of rebate / discount should be mentioned inside the quotation.

The quotation received beyond the above stipulated date shall not be accepted on any circumstances.

The undersigned reserves the right to accept or reject any or all quotation without assigning any reason thereof.

16/01/2026
Principal
PRINCIPAL
Govt. Polytechnic, Gajapati
Govt. Polytechnic
Gajapati

Memo No: 070 /Dated: 16th Jan 2026

Copy Submitted to the P. A to Dist. Collector cum Magistrate, Gajapati / General Manager, DIC, Gajapati/ Dist. Employment Officer, Gajapati / Tahasildar, Gajapati / District Education Officer, Gajapati / Dist. Information & Public Relation Officer, Gajapati, / Project Administrator, ITDA, Gajapati / Project Director, DRDA, Gajapati / Principal ITI, Gumma, Gajapati / Principal ITI, Rayagada, Gajapati / Principal SKCG College, Paralakhemundi / Principal Women's College, Paralakhemundi / Principal Kendriya Vidyalaya, Gajapati / Principal J. N. V. Gajapati for favour of kind information with a request to display the notice in their notice board for wide circulation in public.

16/01/2026
Principal
PRINCIPAL
Govt. Polytechnic, Gajapati
Govt. Polytechnic
Gajapati

Memo No: 071 /Dated: 16th Jan 2026

Copy to the District e-Governance Manager, O/o. Collectorate, Gajapati for kind information. He is requested to upload the Quotation Call Notice along with the list of the books in the NIC Website.

16/01/2026
Principal
PRINCIPAL
Govt. Polytechnic, Gajapati
Govt. Polytechnic
Gajapati

Memo No: 072 /Dated: 16th Jan 2026

Copy to Account Section / Cashier for information & necessary action.

16/01/2026
Principal
PRINCIPAL
Govt. Polytechnic, Gajapati
Govt. Polytechnic
Gajapati

REQUISITION OF BOOKS FOR ALL DEPARTMENT OF GOVT. POLYTECHNIC GAJAPATI

SL No	Publication	Branch	Book	Auther	Qty	Aprox. Price	Aprox. Cost
1	Khanna Books	Math&Sc	INTRODUCTION TO IT SYSTEMS	PRASHANT JOSHI	30	191	5,730
2	Khanna Books		MATHEMATICS- ii	Dr.GARIMA SINGH	15	252	3,780.00
3	Khanna Books		ENGINEERING GRAPHICS	SHARAD KPRADHAN	25	255	4,590
4	Khanna Books		FUNDAMENTALS OF ELECTRICAL & ELECTRONIC ENGG (With lab manual)	Prof. SUSAN S. MATHEW	10	294	2,940
5	Khanna Books		ENGG MECHANICS (With lab manual)	Prof.BHANKHAR BHARAT GOKALDAS	10	252	2,520
6	S.chand	E&TC	Optical Fibre communication system	SK Sarkar	5	275	1,375
7	UMESH Pub		Microwave Engineering	M. Kulkarni	5	350	1,750
8	Tata McGraw Hill		Project planning, analysis, selection, implementation and review	Prasannachandra	3	650	1,950
9	Khanna Publishing		A Classical Approach to Artificial Intelligence	M.C. Trivedi,	5	396	1,980
10	PHI Learning,		Artificial Intelligence and Machine Learning,	Vinod Chandra S.S. and Anand Hareendran S	5	472	2,360
11	Khanna books		Internet of Things	Jeeva Jose	5	361	1,805
12	McGraw Hill		Internet of Things	Raj Kamal	5	755	3,775
13	PHI		Operational Amplifier & Linear Integrated Circuit	R.K. Gekwad	5	350	1,750
14	Khanna Publication		Electronics & Communication Simplified	A. K Maini	5	580	2,900
15	KATSON		Communication Systems (Analog & Didital)	Sanjay Sharma	5	896	4,480
16	PHI		Advanced Communication	Thomasi	5	600	3,000
17	Dhanpat Rai		Fundamentals of Microprocessor & Micro controller	B. Ram,	5	390	2,340
18	Tata McGraw-Hill publications	mech	Theory of machines, 5 th Ed.	S.S .Rattan	5	790	3,950
19	Tata McGraw Hill Education Private Limited		Gas Turbines	V Ganesan	5	715	3,575
20	Prentice Hall		Computer Integrated Manufacturing	Paul G. Rankey	5	500	2,500
21	Tata McGraw-Hill Publishing Co. 2007		Mastering CAD CAM, 2 nd Ed.	Ibrahim Zeid	5	520	2,600
22	Tata McGraw Hill Education Private Limited		Refrigeration and Air Conditioning	C. P. Arora	2	1050	2,100
23	Khanna Book Publishing Co., New Delhi		Refrigeration and Air Conditioning	Sadhu Singh	5	450	2,250
24	McGraw Hill Education		Solar Energy: Principles of Thermal Collection and Storage	S. P. Sukhatme and J. K. Nayak	5	450	2,250
25	Prentice Hall, 2009		Fluid Power with Applications	Anthony Esposito	2	950	1,900
26	Tata McGraw Hill		Tool Design	Donaldson Anglin	4	875	3,500
27	Khanna Publishers		Production Technology Vol-I,II	R.K.Jain	2	1000	2,000
28	OXFORD Higher Educat		"MATLAB and Simulink for Engineers	Agam Kumar Tyagi,	5	760	3,800


PRINCIPAL
 Govt. Polytechnic
 Gajapati

SL No	Publication	Branch	Book	Auther	Qty	Aprox. Price	Aprox. Cost
29	Vikas Publishing House Pvt. Ltd. Noida.	elect	Fundamentals of Power Electronics	S.K. Bhattacharya	5	370	1,850
30	Penram International Publishing (India) Pvt. Ltd, Mumbai.		Power Electronics and its Applications	Alok Jain,	5	350	1750
31	Pearson		Power Electronics Circuits Devices and Applications	Muhammad Rashid	5	960	4800
32	Tata McGraw Hill Publishing Co. Ltd, New Delhi.		Power Electronics	M. D Singh and K.B. Khanchandani,	5	650	3250
33	Tata McGraw-Hill		Industrial instrumentation and contro	Singh, S.K.	2	688	1376
34	S.Chand		A Textbook of Electrical Technology Vol. III,	B.L Theraja	5	572	2,860
35	Pearson Education		Electrical Power Transmission and Distribution	S. Sivanagaraju; S. Satyanarayana	5	505	2,525
36	Wiley India Pvt. Ltd		Electrical Power System: A First Course	Ned Mohan,	5	725	3625
37	S. Chand and C		Power System Analysis and Design	B.R. Gupta	5	750	3750
38	Tata McGraw-Hill,		Electrical Power Distribution System	V. Kamraju,	5	521	2605
39	PHI	etc	Operational Amplifier & Linear Integrated Circuit	R.K. Geakward	5	350	1,750
40	Khanna Publication		Electronics & Communication Simplified	A. K Maini	5	580	2,900
41	KATSON		Communication Systems (Analog & Didital)	Sanjay Sharma	5	896	4,480
42	PHI		Advanced Communication	Thomasi	5	600	3,000
43	Dhanpat Rai		Fundamentals of Microprocessor & Micro controller	B. Ram,	6	390	2,730
44	S.chand		Optical Fibre communication system	SK Sarkar	5	275	1,375
45	UMESH Pub		Microwave Engineering	M. Kulkarni	5	350	1,750
46	Tata McGraw Hill		Project planning, analysis, selection, implementation and review	Prasannachandra	3	650	1,950
47	Khanna Publishing		A Classical Approach to Artificial Intelligence	M.C. Trivedi,	5	396	1,980
48	PHI Learning,		Artificial Intelligence and Machine Learning,	Vinod Chandra S.S. and Anand Hareendran S	5	472	2,360
49	Khanna books		Internet of Things	Jeeva Jose	5	361	1,805
50	McGraw Hill		Internet of Things	Raj Kamal	5	755	3,775
51	Khanna Book Publishing Co.,		Fluid Mechanics & Hydraulic Machines	S.S. Rattan,	5	439	2,195
52	Standard book house,		Hydraulics and Fluid Mechanics	Modi, P. N.and Seth, S.M.,	5	775	3,875
53	McGraw Hill Education		Irrigation Engineering	Basak, N.N.,	5	395	1,975
54	New Age		Irrigation and water resource Engineering	Asawa, G.L.,	5	400	2,000
55	Khanna Publishers		Irrigation and Hydraulic Structures	Garg, S K,	5	828	4,140

16/10/2020

PRINCIPAL
Govt. Polytechnic
Gajapati

SL No	Publication	Branch	Book	Auther	Qty	Aprox. Price	Aprox. Cost
56	Dhanpatrai & Sons.	civil	Theory of structures	Ramamrutham,S,	5	799	3,995
57	Khanna Publishing House		Structural Analysis	Agor R,	5	410	2,050
58	UBS Publishers Distributors		Estimating and Costing in Civil engineering (theory & practice)	Datta, B.N.,	5	617	3,085
59	Orient Longman, Mumbai		Civil Engineering Contracts and Estimates	Patil,B.S	2	500	1,000
60	Oxford University Press		Surveying and Levelling	Subramanian, R.,	5	800	4,000
61	S. Chand and Company		Design of Steel Structures	Dayarathnam P.,	5	893	4,465
62	New Age International		Reinforced Concrete Design Principles and Practice	Krishna Raju, and N. Pranesh, R.N.,	5	599	2,995
63	Mcgraw Hill Publishing		Building Drawing	Shah. M.G. Kale, CM, Patki, S.Y.,	5	768	3,840
64	Computech Publication		Civil Engineering Drawing,	Malik and Mayo,	5	450	2,250
65	Standard Book House.		Hydraulics and fluid mechanics including Hydraulic machines, 22nd Ed.	P.N MODI & S.M SETH	5	900	4,500
66	MC Graw Hill		Engineering Hydrology	Subramanyan	5	800	4,000
67	MC Graw Hill		Irrigation Engg	N.N Basak	5	800	4,000
68	Galgotia Publication		Construction Planning & Management	U.K Shrivastava	5	600	3,000
69	Dhanpat Rai Publications		Industrial Engg & Management	O. P. Khanna	5	600	3,000
70	I.K International		design of steel structures : by Limit state Mrthod as per IS:800-2007	S.S Bhavikatti	5	400	2,000

Total, 200,061

Rupees (Two lakh sixty one) only

1/1/2010

PRINCIPAL
Govt. Polytechnic
Gajapati